
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

1 

CF188 
QJmotor SRK125 

 
                                                           Mounting kit 

     ID. Description Cat.No. Pcs 

 1 Steel adapter  X169 1 

 2 Bolt M8x16mm 829 4 

 3 Washer M8 802 4 

 4 Dural.roller l=47mm 1409 2 

5 Dural.roller l=25mm 1410 2 

6 Washer M6 987 4 

7 Bolt M6x70mm 871 2 

8 Bolt M6x45mm 1030 2 

9 Sticker RDmoto   2 

  

The assembly process: 

 

During assembly, we recommend using thread glue - medium strength (blue). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

2 

 
 

 

 

Steel adapter ID.1 + dural.rollers 

l=25mm ID.5 + bolts M6x45mm ID.8 + 

washers M6 ID.6 

Bolts M8x16mm ID.2 + washers M8 

ID.3 

Bolts M6x70mm ID.7 + dural.rollers 

l=47mm ID.4 + washers M6 ID.6 


